Mockery of a test:

1. Black Elk leaves the diving board with an upward velocity of +5.8 m/s and strikes the water 10.0 m below the board.

A) With what velocity did he strike the water? (-15.2 m/s)
B) What time did it take him to reach the water? (2.14 s)
C) To what height did he rise above the board before going down? (1.72 m)
D) Draw a qualitative graph of the position v time, and the velocity v time for the time he was in the air:
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2. A car decelerates from 34 m/s to 12 m/s in 15 seconds.  

A) What was the average velocity? (23 m/s)
B) What was the acceleration of the car? (-1.47 m/s/s)
C) What distance did the car take to do this? (345 m)
D) Assuming it has the same acceleration (deceleration?) how much further will it go after it reaches 12 m/s to stop? (49.1 m)
3. An airplane lands at 84 m/s and slows to a stop uniformly over a distance of 410 m.

A) What was the average velocity of the plane on the ground? (42 m/s)
B) What time was the plane on the ground? (9.76 s)
C) What was the velocity of the plane when it was halfway through the 410 m? (i.e. at 205 m) (59.4 m/s)
D) Draw a qualitative graph of the position v time, and the velocity v time for the time airplane was on the runway:
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4. A student shoots a rocket up in the air from the ground.  The rocket’s greatest height is 56.0 m.

A) With what velocity did the rocket leave the ground?  With what velocity did the rocket strike the ground? (+33.1 m/s, -33.1 m/s)

B) What time did the rocket take to reach the top?  What total time was the rocket in the air? (3.38 s, 6.76 s)

C) What two possible velocities did the rocket have when it was 50. m above the ground?  Why are there two different velocities? 
(+10.8 m/s or –10.8 m/s)

D) What was the rocket’s velocity 5.0 s after it is launched? What is its position? (-15.9 m/s, 43.2 m above the ground)

